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Question 1:
(a)[7 points] Let f(z) = E%-—T Evaluate and simplify the difference quotient

f(z+h) - f(z)
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(b)[3 points] Find the domain of the function f(z) =
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Question 2:

(a)[3 points] Let f(z) = vz + 3 and g(z) = 2*> — 3. Find go f and state the domain.
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(b)[4 points] Again let f(z 3:—|—3 and g(z) = 2% — 3. Find i and state the domain.
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(c)[3 points] Let F(z) =1+ v/sinz. Find functions f and g so that F'= fog.
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Question 3:
(a)[5 points] Evaluate the limit if it exists:
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(b)[5 points] Evaluate the limit if it exists:
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Question 4:

(a)[5 points] Evaluate the limit if it exists:
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(b)[5 points] Evaluate the limit if it exists:
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Question 5:
(a)[5 points] Let

2t —cx? ifr<?2
g(z) =

cr+18 ifx>2

Find the constant c that makes g continuous at all real numbers.
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(b)[5 points] Evaluate the limit if it exists:
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